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QUESTION 33
Which two statements about a SmartJack are true? (Choose two.)

It provides signal conversion.

It acts as a concentration point for dial-in and dial-out connections.

It operates at Layer 2 of the OSI model.

It provides channel testing.

It regenerates the signal to compensate for signal degradation from line transmission.

moow»

Answer: AE

QUESTION 34
The colored wires at one end of a cable are in reverse sequence to the colored wires at the other end of the cable.
Which cable does this configuration describe?

rolled

crossover
coaxial
straight-through

o0w»

Answer: B

QUESTION 35
Which configuration register value can you set on a Cisco device so that it ignores the NVRAM when it boots?

0x2124
0x2120
0x2142
0x2102

oo0w»

Answer: C

QUESTION 36
What is the difference between a CSU/DSU and a modem?

A. A CSU/DSU converts analog signals from a router to a leased line; a modem converts analog
signals
from a router to a leased line.

B. A CSU/DSU converts analog signals from a router to a phone line; a modem converts digital
signals
from a router to a leased line.
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C. A CSU/DSU converts digital signals from a router to a phone line; a modem converts analog
signals
from a router to a phone line.

D. A CSU/DSU converts digital signals from a router to a leased line; a modem converts digital
signals
from a router to a phone line.

Answer: D

Explanation:

CSU/DSU is used to convert digital signals from a router to a network circuit such as a T1, while a modem is used to
convert digital signals over a regular POTS line.

QUESTION 37
Which Cisco CPAK 100GBASE module supports Multimode Fiber cable?

Cisco CPAK-100G-CWDM4
Cisco CPAK-100G-LR4
Cisco CPAK-100G-ER4L
Cisco CPAK-100G-SR4

o0w»

Answer: D

QUESTION 38
The pins on an RJ-45 cable plug are numbered from 1 through 8. When the metal pins of the plug are facing toward
you, pin 1 is the leftmost pin. Which two sets of pins are looped on an RJ-45 56K loopback plug? (Choose two.)

A. pins2and?7
B. pins2and8
C. pins2and5
D. pins1land?7
E. pins1land4
Answer: CE
QUESTION 39
How many pairs of copper wire does a UTP cable have?
A 2

B. 3

C. 4

D. 5

Answer: C
QUESTION 40

Which two Cisco Nexus 3400 Series switches support 400-Gbps Ethernet ports? (Choose two.)

Cisco Nexus 34180YC
Cisco Nexus 34200YC-SM
Cisco Nexus 3432D-S
Cisco Nexus 3408-S
Cisco Nexus 3464C

moow»

Answer: CD
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QUESTION 41
Which type of memory stores the configuration of a router or switch by default?

oCow>

RAM
ROM
NVRAM
flash

Answer: A

QUESTION 42
Which two commands identify the serial number of a Cisco router? (Choose two.)

moow»

show run

show inventory
show environment
show version
show archive

Answer: BD

QUESTION 43
Which two commands set the configuration register value? (Choose two.)

moow»

rommon>confreg 0x2102
router(config)#confreg 0x2102
rommon>config-register 0x2102
router(config)#configuration-register 0x2102
router(config)#config-register 0x2102

Answer: AE

QUESTION 44
Which bits represent the boot field in the configuration register value?

0w

highest two bits
lowest two bits
highest four bits
lowest four bits

Answer: D

One Time!
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